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YOU WILL NEED
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Vertex on Circle—Secant and Tangent (Case 1a)
In this Activity, you will examine three A
configurations of secant-tangent angles.

1. The secant-tangent angle is a right angle.

Secant
(The secant contains the center of the circle.) andn
mAVC= 2 mAV=_2_ tges
CHECKPOINT / How does this relationship compare with
the one between an inscribed angle and v c
its intercepted arc? ZAVCis o right angle.
2. The secant-tangent angle is acute.
Copy and complete the following table:
———
mAV | ms1 [me2 | mepve | mzave /A
= 1200 | 120° | 30° ? 60° Secant
As you justify each
ontry of the table for the i JE e 2 ? tangent
general case, you are 80° ? ? ? ? £ -
also proving a theorem. .
oy Tl | L) I L 2 ZAVCis an scute angle.
CHECKPOINT ¢/ Complete the following statement:

CHECKPOINT ¢/

The measure of an acute secant-tangent angle with its vertex on
acircleis__? _ the measure of its intercepted arc.

3. The secant-tangent angle is obtuse.

Copy and complete the following table: X
7
mAXV | m£1 | mi2 | mLPVE | mZAVC
200° 160° | 10° ? 100* Pt
220° |7 ? 2 tangent
240° ? ? ? ?
| 2 12 ? ? 5
£AVCis an obtuse anglo.

Complete the following statement:

The measure of an obtuse secant-tangent angle with its vertex
onacircleis__? _ the measure of its intercepted arc.

4. Based on your results, complete the following theorem:
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